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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot Sensor and FgRec Data
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Plot [['setVlI ETcl’, 'setVI fgRec', 'setVI VN, 'sl|SetVI' ]]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Trend plot forP3-11_0
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P3-11
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P3-11
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P3-11
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Warning: lcol ["WC1',  "WC2'] missing

TargetEC=2600. 0,  TargetSetEC=2080. 0

Warning: lcol ['ECB’,| 'ECC’'] missing

TargetPH=6. 5, TargetSetPH=6.0

Warning: lcol ['PHB’,| 'PHC’'] missing
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P3-11

BfiE) | EBIETK (FD) | EB=E (EH/) | XK EFRF

07:40 300 150.0 RE| {Ri&e07:40 Bzl (REERS)
08:20 300 150.0 (Z=| 1Ri%e08:20 Bz (kABEREE)
09:55 300 150.0 (Z=| 1Ri%@09:55 Bzh (KABERESE)
11:20 300 150.0 S| Rige11:20 Bz (REAERE)
12:35 300 150.0 RS Ri%e12:35 Bz (REAERESR)
13:45 300 150.0 |Z=| 1Ri&e13:45 Bz (RBEEE)
14:45 300 150.0 |Z=| 1Rige14:45 Bz (RPBEREE)
23t1]2100.0 (70%) 1050. 0 ZHKEC: 2080.0, PH: 6.0

MEBEHERE STMAAEARS (195.0 : 156.0), AIREHTF—@E XAH4
ZRIALBRERE156. 0 ml.
AEREMEC (2665.0) 5i%EEC (2000.0) RELK KA, /T
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Warning: lcol ["WC1',  "WC2'] missing

TargetEC=2600. 0,  TargetSetEC=2080. 0

Warning: lcol ['ECB’,| 'ECC’'] missing

TargetPH=6. 5, TargetSetPH=6.0

Warning: lcol ['PHB’,| 'PHC’'] missing
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P3-11
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09:35 294 150.0 |Z=| 1Ri&@09:35 Bzl (RkE{EEE)
10:45 294 150.0 (Z=| 1Ri%@10:45 Bz (REERSE)
11:55 294 150.0 B 1Rige11:55 Bzh (REEESE)
12:40 294 150.0 | Ri%e12:40 Bz (GREEREESE)
13:35 294 150.0 BS| 1Ri%e13:35 Bz (REERSE)
14:30 294 150. 0 S| Ri%014:30 Bz (REERESE)
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23t 2646.0 (9%) 1350.0 3 WFHKEC: 2080.0, PH: 6.0

TERRHLER 2 STEELRT (191.0 :

ZRIALBRERE156. 0 ml.

156.0), AEEHT—@ % XA HS

AEREMEC (2660.0) 5i%EEC (2000.0) RELK KA, B/E
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ET (ml/hr/plant)

P3-11_0, Day=45 (2025-05-17)
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Warning: lcol ["WC1',  "WC2'] missing

TargetEC=2600. 0,  TargetSetEC=2080. 0

Warning: lcol ['ECB’,| 'ECC’'] missing

TargetPH=6. 5, TargetSetPH=6.0

Warning: lcol ['PHB’,| 'PHC’'] missing
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